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j 0 1 2 3 4 5 6 7 8 9 10
W A C T A C T A C A G T

C (j) -1 0 0 0 1 2 3 4 5 1 0:(oekp `l zvw did m
ewd ,zn
ewd d`vxddn dpey zvw) C z`ivnl mzixebl`d
KMP mzixebl`a C z`ivnl mzixebl` 1 mzixebl`

C(0) = −1
C(1) = 0
i=1
j=0
while (i < N) // N is the length of W
{
while (W (i) = W (j))
{
C(i+ 1)=C(i) + 1;
i++;
j++;
}
if (C (j) 6= 0)
j = C(j)-1;

else
{
C(i+ 1) = 0;
i++;
j=0;

}
} (Boyer Moore) BM mzixebl`.Ta elen did dn mb `l` Wa epirh dti` wx `l lkzqn ,m
ewd mzixebl`l 
ebipa ,dfd mzixebl`d.dzligzl dlind seqn `id df mzixebl`a dwi
ad.Bad Shift Table = BST - dlina ze` lk driteny xzeia xge`nd mewnd wfgen day ,dlah epl yi dt mb:BANANA dlina ,dnbe
lze` BST - hiqdl xyt` dnk

B 5
A 0
N 1mixg` 6.dxeg` dhqdd z` onqiy j = 0e hqwha mewind z` onqiy i = k − 1 - miqwp
i` ipy lgz`p.W (k − 1− j) oial T (i − j) oia d`eeyd miyer1



:dyrp ,dn`zd i` yi m`
i = i+BST (T (i− j))− j

j = 0:dn`zd yi m`
i = i

j ++-
wzn `l ep`e ,
xei i f`e dn`zd oi`yk j > BST (T (i− j)) day ,dira zeidl dleki df dxwna j`.dwi
aa min.−1a m
wzp ,A ep`vn xzei xge`nd Nd z` epw
ayk m` ,BANANA dlina ,dnbe
l.Good Shift Table - GST z`xwpy dlah mb mixvei ,oklzeize`d z` yiy jk itl ,ef ze`a epirh m` dni
w hiqdl xyt` dnk miw
ea ze` lkl ,efd dlaha.epw
ay ze`dn zxg` `id dpekp `le epw
ay ze`d la` zepekpe xak epw
ay
W B O N A N A

GST 6 6 6 2 6 1
W B A N A N A

GST 6 6 2 6 4 1ep`vny ji` mr dira zvw yi ,dlind lk ly `tiq mb `idy dlind lk ly `yix epl yi m`y al miyp:`tiqd len ayz `yixdy df dlind z` m
wl lkepy daxd ikd ik ,eiykr 
r
W B A N A B A

GST 4 4 4 4 2 1,W (k − 1− j) oial T (i − j) oia dwi
aa dn`zd oi` xy`ky `ed mzixebl`l dyrpy oewizd okl:dyrp.i = max (i+BST (T (i− j))− j, i+GST (W (k − 1− j)))

BM mzixebl` 2 mzixebl`
i=k-1
j=0
while (i < L)
{
while (W(k − 1− i)==T(i− j) && j<k)
j++;

if (j==k)
cout “success”

i = i +max (BST (T (i− j))− j, GST (k − 1− j))
j=0

}
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